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CHAPTER 5

- The relationship between v ork and power

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

h@, let's assume that the car, of mass 1550 kg, can reach a speed of 60 mph (26.8 m/s) in 7.1 s
B¢ What is the average power needed to accomplish this?

LD A\ LU0 LD AERAUL QL e il Zemgany LU UV IV Laglgan QLA Sl 01&!..1.]
folls pyaasl Al & yapll Luagia lag
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L
II Power

A norse draws a sied norizontally across a snow-covered fieid.
The coefficient of friction between the sled and the snow is
0.195, and the mass of the sled, including the load, is 202.3 kg. If
the horse moves the sled at a constant speed of 1.785 m/s,

what is the power needed to accomplish this?

0.195 alillg 2o W31l oygs LGaNL Jalea glyy alilly @ha Jou sz Lisol £a¥) loma syny
1.785 m/s i5l§ ityuy Bl glaall a1l . 202.3 Kg  Jaall ol g lay oLl L2 glsg
felling glall Aygllall Xyn3ll oy

A horse draws a sled horizontally on snow at constant speed.
The horse can produce a power of 1.060 hp. The coefficient of friction
between the sled and the snow is Q.115, and the mass of the sled,

including the load, is 204.7 kg. What.is the .speed with which the sled
moves across the snow?

1.060 hp yss sylgs laall lays 23l5 Bepay (Il @le Lissl iady oslas vy
204.7 K . Jasll el o lag gdul,;@m 0.115 gut,uy)nw._n;mzuﬂmgﬁ
R G G Gl iyl
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CHAPTER 5

While a boat is being towed at a speed of 12.0 m/s, the tension
in the towline is 6.00 kN. What is the power supplied to the boat

through the towline?

fagrall don JH (o 2yl Lagazly 3ll 2yl La

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

L]

A car of mass 1214.5 kg is moving at a speed of 27.9 m/s when it

misses a curve in the road and hits a bridge piling. If the car comes to rest in
0.236 s, how much average power (in watts) is expended in this interval?

syanbioly goshll (12 Loyl 2 cpsagbllogt 27.9 M/S i2yuy 1214.5 Kg lashi2 dslpa 2505

figall dysall ata o (Llglly) algigall 3531l Lugia lag H0ZS6 S (343 @8 pedall ibyy @Il iyl slag Ll . suall yilayy
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CHAPTER 5

An engine expends 40.0 hp in moving a car along a level track
at a speed of 15.0 m/s. How large is the total force acting on the car in
the direction opposite to the motion of the car?

15.0 m/s Blyay gima slua Job @l Byl aelygag mie 40.0 hp laylpa Ag9 clyaa Jingy
¥4 5lgall 3;.);1 vaalzall AM![QA i.)li.a.“ Q9 i)i}gn L¢3l 6}“‘41 )lh}A la

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

| — = i e—

A car of mass 942 .4 kg accelerates from rest with a constant
power output of 140.5 hp. Neglecting air resistance,
what is the speed of the car after 4.55 s?

140.5 hp mlj‘ a9 Alnu., \‘)};L-\JLOA 942 .4 Kg Lﬁ\.‘;‘l‘ié E)L_!.n é)w
£4.00 8 y93a saxzy Byleall X4 la cclgall Zaglaa Jlaal 32
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